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Suppose (2, 4) is a critical point of f(x, v). Which of the following must
be a critical point of g(u, v) = sin(f(u + v,u — v))?

(6, —2) A
(3,—1) B
(sin(2), sin(4)) c
(sin(6), sin(—2)) D
None of the above E

Total Results: 11
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Consider the polar curve 7 = sin(360). Starting from § = 0,

when does this polar curve begin to retrace itself?

At =m/3
At 6 =27/3
At =
At 0 =27

This curve does not retrace itself.




Consider the polar curve 7 = sin(460). Starting from § = 0,

when does this polar curve begin to retrace itself?

At =7/4
At 6 = m/2
AtO =
At 0 = 27

This curve does not retrace itself.
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